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Question Number : 1 Question Id : 87827055878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 : _ A
Let f(x) = — be a function defined on R. Then the range of the function f(x) is equal to :
~ §in 5x '

Options :

EH
878270219591. 8 5

878270219592.

878270219593.

878270219594.



il

Question Number : 1 Question Id : 87827055878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

HH e f(x):%, R T GRefo €1 1 Fer f(x) 1 TIE s &

7 — sin bx

Options :

EH
878270219591. 8 5

878270219592.
878270219593.

878270219594.

Question Number : 2 Question Id : 87827055879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let A={l, 2, 3,4, 5}. Let R be a relation on A defined by 1Ry if and only if 4v<5y. Let m be the
number of elements in R and n be the minimum number of elements from A X A that are required
to be added to R to make it a symmetric relation. Then m+n 1s equal to:

Options:

878270219595.

878270219596.

878270219597.

878270219598.

Question Number : 2 Question Id : 87827055879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA A={1,2,3,4,5) €1 W A W U Hald R 38 Yo wfRenfir & o xRy 2fe 9% 3 afe dasy
T R W Sl 1 W€ m e o R A O G Holel a9 o et R H Ax A T ol o
el 1 2 FEA n G, o m o+ R E -

Options:

2
9

878270219595.

878270219596. 24

878270219597.



878270219598, 20

Question Number : 3 Question Id : 87827055880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Zl _222

If 2y, Z, are two distinct complex number such that =2, then

=Ry
) 153
Options:

both z; and z, lie on the same circle.
878270219599. =

z; lies on a circle of radius 5 and z, lies on a circle of radius 1.
878270219600. .

either Z4 lies on a circle of radius l OF Z, lies on a circle of radius 1.
878270219601. 2

either Z lies on a circle of radius 1 or Zy lies on a circle of radius l
878270219602.

Question Number : 3 Question Id : 87827055880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



7 z,, z, 9 T wfmy geat 8 g ¢ 6 ‘il‘ﬂ;ﬂg A

T
) Ky
Options:

z, T z, GHI 9H g9 W fEoa €

878270219599.

zl,% B o g1 WA 2, 1 B % A W RRm 2

878270219600.

@z, % 5= o g8 W A 2, 1 5 % g W e €

878270219601.

AWz, 1 T E g WA 2, % 5 % g W e

878270219602.

Question Number : 4 Question Id : 87827055881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If A is a square matrix of order 3 such that det{A)=3 and

det(adj( -4 adj( -3 adj(3 adj((2A) ~1))))) =2™ 3", then m +2n is equal to :

Options :

-3

878270219603.

878270219604.

878270219605.



878270219606. 6

Question Number : 4 Question Id : 87827055881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At A ife 3 1 T a7 38 39 YR € fF det(A) =3 & 41
det(adj(—4 adj(—3 adj(3 adj((2A)~1))))) =2 3", @ m+2n TR T -

Options:

-2

878270219603.

878270219604.

878270219605.

878270219606.

Question Number : 5 Question Id : 87827055882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If all the words with or without meaning made using all the letters of the word “NAGPUR" are
arranged as in a dictionary, then the word at 315" position in this arrangement is ;

Options:



878270219607, NRAGPU

878270219608, NRAPGU

878270219609, NRAGUP

878270219610, NRAPUG

Question Number : 5 Question Id : 87827055882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afc “NAGPUR” 2 % Tt 161 o T B o nefimt 1 1ol el 1 ey # e foen o
¢, @ v ¥ 35 fefr mve &

Options :

878270219607. NRAGPU

878270219608, NRAPGU

878270219609, NRAGUP

878270219610, NRAPUG

Question Number : 6 Question Id : 87827055883 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let0<r<n. If “HCH-I:“Cr:l"lCr_l = 55:35:21, then 2n +br is equal to :

Options :

878270219611.

1
(9]

878270219612.

878270219613. 60

878270219614.

Question Number : 6 Question Id : 87827055883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T 0<r<n %l A "C,,;:C,:"!C, = 55:35:21 & T 2n+5r T :

Options :

n
=

878270219611.

1
(9]

878270219612.

878270219613.



878270219614. o2

Question Number : 7 Question Id : 87827055884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A software company sets up m number of computer systems to [inish an assignment in 17 days. If
4 computer systems crashed on the start of the second day, 4 more computer systems crashed on
the start of the third day and so on, then it took § more days to finish the assignment. The value of
misequal to:

Options :

878270219615, 12U
878270219616, 122
878270219617, 10U
878270219618, 180

Question Number : 7 Question Id : 87827055884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 1 17 T % 9 0 o e O e 9 3 m g T o | o g e e A
B 4 O T T, e o Y 4 O e e A o g v g o & feA 6 of, @
1A %) TG 0 W § T St o | m o W T

Options :



878270219615, 12U

878270219616.

878270219617. 160

878270219618, 18U

Question Number : 8 Question Id : 87827055885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

2x
: . : 1
If the function f[x)z[—] : 1 > 0 attains the maximum value at x== then :
X e

Options :
e’ > 7t

878270219619.

ST e
878270219620, & =T

e?™ < (21r)°
878270219621.

(ZE)T - ,T...{EL'}
878270219622.



Question Number : 8 Question Id : 87827055885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

4 \2X
e weH f(l}:[l] ;x> J|:=1 T IATH T 9T Al €,
X e

Options :

ST e
878270219619, & ~ T

ST e
878270219620, & =T

e’™ < (21r)°
878270219621.

(ZE)T - ,T...{EL'}
878270219622.

Question Number : 9 Question Id : 87827055886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(12-1)(n-1)+(2%-2)(n-2)+"+ -+ +{ (-1~ (n-1)}-1

15 equal to:
n—jee (13+23+ e 113]—(12+22+ ----- +112]

Options :

1

878270219623, 2

878270219624.



0| =

WK

878270219625.

| G

878270219626.

Question Number : 9 Question Id : 87827055886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

lim SHEL %
Ni—bea (13’+23 Tk P s + 113]—(12+22+ R 112]
Options:
i
878270219623, 2
1
878270219624,
2
878270219625, 3
3
4

878270219626.



Question Number : 10 Question Id : 87827055887 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose for a differentiable function I, 1(0)=0, I(1)=1 and h'(0)=h'(1)=2. If g(x)=h(e ell®)
then g'(0) is equal to:

Options :

878270219627.

878270219628.

L

878270219629.

878270219630.

Question Number : 10 Question Id : 87827055887 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T o arrrera e h % 0, h(0)=0, h(1)=1 791 b'(0)=h'(1) =2 €1 7R gx)=h(e)e!),
l g/(0) R E -

Options :

878270219627. 3

878270219628.



878270219629, °

878270219630. 8

Question Number : 11 Question Id : 87827055888 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
. ; a 1 Jl & 1 .
[f the area of the region {(x,y): —5<y<=, 1€1<2, 0<a<ly is (loge2) - 7 then the value of 7a~3
&

X

15 equal to:

Options :

878270219631.

878270219632, U

878270219633.

2

878270219634.

Question Number : 11 Question Id : 87827055888 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

7 8 (x,y): —aaﬂlfil, 1€x<2, 0<a<1} % 47 (log,2) - % &, T 7a=3 o1 WA ¢ -
oy
Options :

878270219631.

878270219632. 0

878270219633.

-3

878270219634.

Question Number : 12 Question Id : 87827055889 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

]. ]. -'. i
[f Jr TN dr = — tan l(3tanx}+ constant, then the maximum value of
a“sin“x+b cos"x
asiny+bcosx, is:
Options :

42
878270219635.

878270219636.

V40

878270219637.



878270219638.

Question Number : 12 Question Id : 87827055889 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R I 5.7 : ) dx = i tan'-l(?&laanW%, M asinx +bcosy FH THM A :
a~sm x+b cosx
Options :
J42
878270219635.

878270219636.

878270219637.

878270219638.

Question Number : 13 Question Id : 87827055890 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= Byt 2
9upp059 the solution of the differential equation % = 2+ By+ 2
de By - 2ay - (By - do)

passing thmugh 01‘igin. Then the radius of this circle is :

[EPI’ESE‘H[S acircle



Options :

m|ﬁ1
~]

878270219639.

2

878270219640.

878270219641.

B | =

878270219642.

Question Number : 13 Question Id : 87827055890 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o el o e e &Y - _ 20 BUt ) gt d R aa
dr  pr - 2ay - (By - 4o

¢ AT @ e -
Options:
J17
878270219639. -

878270219640. -

878270219641.



1

878270219642, 2

Question Number : 14 Question Id : 87827055891 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the locus of the point, whose distances from the point (2, 1) and (1, 3) are in the ratio 5: 4, is
ax2+ byt +cxy+dx+ey+170=0, then the value of a2+ 2b+3c+4d+e is equal to ;

Options:

L

878270219643.

878270219644.

878270219645.

22
=]

878270219646.

Question Number : 14 Question Id : 87827055891 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afc 39 forg, Towe forgati (2, 1) &R (1, 3) § @l &1 &9 5 : 4 &, &1 foaguy
ax?+by? +cxy + dx + ey +170=0 %, T a2+2b+3c+4d+e % HH IR ¢ -

Options :

878270219643.



878270219644, 437

878270219645. 27

878270219646, -/

Question Number : 15 Question Id : 87827055892 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If P(6, 1) be the orthocentre of the triangle whose vertices are A (5,-2), B(§, 3) and C (h, k), then
the point C lies on the circle :

Options :
x2+ yz —-52=0

878270219647.

X2+ 1;3—61 =%
878270219648. :

Lp | g | i
=+ 1;'-—!:::-——9
878270219649. :

X2+ —-74=0
878270219650. :



Question Number : 15 Question Id : 87827055892 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

af P(6, 1) 39 FIvsl o1 ik ¢, 578k 91 A (5,-2), B8, 3) 71 C (b, k) %, 0 forg C o 9 feer
-

Options:

X2+ y*—52=0
878270219647. :

x2+y2—61=0
878270219648. :

2+ 1;2 —65 =0
878270219649. ;

x2+ 1;2 —-74=0
878270219650. .

Question Number : 16 Question Id : 87827055893 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let ABC be an equilateral triangle. A new triangle is formed by joining the middle pomnts of all
sides of the triangle ABC and the same process is repeated infinitely many times. If P is the sum of
perimeters and Q is be the sum of areas of all the triangles formed in this process, then :

Options:

P=36+3Q"

878270219651.

878270219652.



P2=6+/30

P?=36/3Q

878270219653.

P?=72./3Q

878270219654.

Question Number : 16 Question Id : 87827055893 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ABC T TalTg 3y € 1 o ABC 1 9ef sfsnafl & wea foratl 31 it 8 0 1 @ amn
& 700 T W Y S o SR T § 1 A 3 iR @ o weft foqel % ofdi @ 4w p 2 qwn
@IWBHWQ%,@I:

Options:

P=36+3Q"

878270219651.

P2=6+/30

878270219652.

P?=36/3Q

878270219653.

P?=72./3Q

878270219654.

Question Number : 17 Question Id : 87827055894 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=0 ¥4 7
Let P (o, B, y) be the image of the point Q (3, =3, 1) in the line : : L yl = 11 and R be the point
(2,5, =1). If the area of the triangle PQR is A and \2=14K, then K is equal to:
Options :
878270219655, 1°

878270219656.

878270219657.

878270219658, O1

Question Number : 17 Question Id : 87827055894 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T I xlgzyf::l 1 g Q3 -3, 1) T Hfefsia fag P (o, B, ) € AR 5, - 1) T 7
farg 1 9fc P PQR %1 4% \ & 991 \2= 14K, T K T @ :

Options :

18

878270219655.

878270219656, 0



79
878270219657. "~

878270219658, O1

Question Number : 18 Question Id : 87827055895 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

- A A A= = A A)] f\\‘ A . - =¥
Let 3=2i+ j=kb=||ax|i+]]||xi Jx i . Then the square of the projection of a on b is:
/)

Options :
1
878270219659,
l?
878270219660. <
2
878270219661,
1
878270219662, °

Question Number : 18 Question Id : 87827055895 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

:} 2T+? EE—H:X[?+?UX1}XJ Ak b W a %‘J?)PZIEHGTI%

Options :
i)
878270219659, O
)
878270219660. <
2
878270219661,
i
878270219662,

Question Number : 19 Question Id : 87827055896 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NoAH = A A = =
Let a =61+ [~k and b=i+j- [f c is a is vector such tlnt c—a=2\/§ and
(—> g 4
the angle between axbandc is 60° then [aXb/Xc| is equal to :
Options :
3
ENG
878270219663. 2

878270219664.



ra| W
ey

878270219665, 2

878270219666.

Question Number : 19 Question Id : 87827055896 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A NA

2 A A . a, :
T a=6i+j-k W p=j+; ¢ G AHW ¢ WA

Bl

=
¢

|E’-E’=2J§

e I
26, a-c=6‘c E

THE :

e o
G| E’x%’amcmwmmﬁﬂ"%,a‘l

Options:

3
=3
2J_

878270219663.

r| W
.

878270219664.

878270219665, 2

878270219666.



S(6+46)

Question Number : 20 Question Id : 87827055897 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If three letters can be posted to any one of the 5 different addresses, then the probability that the
three letters are posted to exactly two addresses is :

Options:

878270219667, 20

Rl

878270219668.

12
878270219669, 29

18
878270219670, 22

Question Number : 20 Question Id : 87827055897 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e 7 i 1 5 oyt el 9 e R At S 1 e 0, 0 6 A A < ) R St S ] e
:

Options :

878270219667, 29

S

878270219668.

12
878270219669, 20

18
878270219670, 29

Mathematics Section B

SectionId: 8782701165
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0

Sub-Section Number : 1



Sub-Section Id : 8782702072
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 21 Question Id : 87827055898 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let o, B be roots of 12 +\/§x -8=0. It Un=u" + 1, then M is equal to ;
2Uq

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 87827055898 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A . T ’)
A 2 +420-8=0 F T o, B §1 AR U =at+pY, A U +V2Us g 3 -
2Uq
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1



Question Number : 22 Question Id : 87827055899 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the system of equations
2x+7y+Az=3
3x+2y+5z=4
x+py+32z= -1

has infinitely many solutions, then (A — ) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 87827055899 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ife GHieRTon 1 e
2x+ 7+ Az=3
3x+2y+5z=4
x+py+32z= -1

3 T TEAT B, T (A—p) IR ©

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 23 Question Id : 87827055900 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I S(x)=(1+2)+2 (1+2P+3 (1+x3 4+ -+« + 60 (1+2)% x 20, and (60)>S(60)=a(b)" +b, where
a, beN, then (a+b)equalto

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 87827055900 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
MG ()= (L+x)+2 (14+2)%43 (1+2)+- -+ + 60 (1+2)% x £0, 74 (60)> 5(60)=a(b)’+b,
%l o, beN, T (a+b) TR E _

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 87827055901 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Let [t] denote the greatest integer less than or equal to t. Let f: [0, %) = R be a function defined by

f(x)=B+3] E [\E] . Let S be the set of all points in the interval [0, 8] at which fis not continuous.

Then Z a is equal to ;

aes
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 87827055901 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
T [, ¢ W 1 3 O e e 2 ST & | e f: [0, ) --->R,f(:r)=E+3]—[ﬁ] m

i 21 W S, SR [0, 8] % 3 4 gl W wpem E, W fUm A 1A Ya W R

aes
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 87827055902 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Let [t] denote the largest integer less than or equal to t. If

3

o
J[[:rz]+ {%DdFHb\@-ﬁ— J§+CJE-\/7, where a, b, c € Z, then a+b+c is equal to
; 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 87827055902 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A [£], ¢ ¥ %W 1t % TR Feaw e 1 9 ¢ | 4

3 ) :
J[Ixz]-l- {%Ddﬂrza-bbﬁ-ﬁ- JB+ef6=7, T a,b,ceZ, @ a+b+c TWHE =E=—=
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 87827055903 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

If the solution y(x) of the given differential equation (¢ + 1) cos x dx +e” sin x dyy=0 passes through

\ VH
o 171 .
the point (EU ] then the value of e \8/ is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 87827055903 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w

. ; . ( & A7
WWW(e.'f-i"l)cosxdt-i-elfsinxdy=[}W%ﬁy(l’)ﬁﬁ(%,U YA E, @ e [E‘) &l

WA AEE
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 87827055904 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The length of the latus rectum and directrices of a hyperbola with eccentricil‘y pare 9and x= +T

respectively. Let the line y—xﬁx +43=0 touch this hyperbola at (x;, yy). 1f m is the product of the
focal distances of the point (xy, ), then 42+ m is equal to

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 87827055904 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fepft o Sebega or anferovercr, foveeh Tiacial it e au Fomd WAL 9 A9 =+ \/_ %wmw

y—y3r+y3=0 Waﬁqﬁmﬁ(x{},y“) mwﬁm‘%ﬂﬁ'mﬁg(xﬂ,_:/ﬂ]aﬁmﬁqgfrﬁmw
%, @l de?+m TR & =

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 87827055905 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



=h 92 51 o 1+2 |}+5_z— 15\/_ -
3 =1 1 =3

If the shortest distance between the lines

the largest possible value of |\| is equal to

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 87827055905 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

?I&:aﬂ

1'\J221 ¥t Y45 2—4%~ s My
= o 1 T — 1 ' | %m
G M maﬁnﬁmwm%ﬂ,xmzﬂf

TE AR A
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 87827055906 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



From a lot of 12 items containing 3 defectives, a sample of 5 items is drawn at random. Let the
random variable X denote the number of defective items in the sample. Let items in the sample be

: . .. W : i
drawn one by one without replacement. If variance of Xis —, where ged(m, n)=1, thenn-m is
' n

equalto

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 87827055906 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

12 el o1 e W, for 3 o e € 5 el v T A e 9 g W X
TG e A A H GUd TG F T G ¢ W A Y TG A G-TF 5 (o

SR % P T 1 7 X 9 TR = 3, 9 ged(m, n)=1, A n-m TR E |
n

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 87827055907 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



[n a triangle ABC, BC=7, AC=8, AB=aeN and cos A=§. [f 49cus(3€)+42=%, where
ged(mn) =1, then m+n is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 87827055907 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

m &
T )
n

T fIYE ABC ¥ BC=7,AC=8, AB=0eN 79 cos A=§ 131 49cos(3C)+42=—, T

ged(mn) =1, @ m+n THE I —

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Physics Section A
Section Id : 8782701166
Section Number: 3

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782702073
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 31 Question Id : 87827055908 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A car of 800 kg it takjng turn on a banked road of radius 300 m and angle of banking a0, It
coefticient of static friction is (.2 then the maximum speed with which car can negotiate the turn

safely : (g = 10 m/s?, 3 =173)

Options :

514 m/s
878270219681.

264 m/s
878270219682.

) ,

878270219683, 1028 m/s

704 m/s

878270219684.



Question Number : 31 Question Id : 87827055908 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 800 kg F1 R T T2 o e W, B 300 m T2 1 €, R 6 oA W AW30° ¢ 7 et s
o1 019 .2 & 7 T SR I o WA € : (g = 10 H/82, 5 =1.73)

Options :

51.4 Hi/9

878270219681.

2640 H /9

878270219682.

878270219683.

878270219684.

Question Number : 32 Question Id : 87827055909 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement (1) : Dimensions of specific heat is [L?T=2K~1],
Statement (II) : Dimensions of gas constant is [M 2T-1K-]),

In the light of the above statements, choose the most appropriate answer from the options given
below.

Options :

878270219685.



Both statement (I) and statement (II) are correct

Both statement (I) and statement (II) are incorrect
878270219686.

Statement (I) is correct but statement (II) is incorrect
878270219687.

Statement (I) is incorrect but statement (1I) is correct
878270219688.

Question Number : 32 Question Id : 87827055909 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUF (1) : fafeee 3o =1 famm S [L2T—2K—1).
®YF (1) : T Tarares & fam g (M L2T— 1K1,
ST % oAl o 78R, 7§ ¥ Tad 9&t 3w 2

Options :

878270219685, S R 1 T R 11 e & |

878270219686. Sl R 1 T R 1 7T €

878270219687, 11 el § g e 1 Terd

878270219688.



HUT 1 T ¢ T e 11 T T

Question Number : 33 Question Id : 87827055910 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A body projected vertically upwards with a certain speed from the top of a tower reaches the
ground in t;. If itis projected vertically downwards from the same point with the same speed, it
reaches the ground in t,. Time required to reach the ground, if it is dropped from the top of the
tower, s :

Options:

t;ts
878270219689.
878270219690.

Sha®
878270219691.

1.

o
878270219692. %

Question Number : 33 Question Id : 87827055910 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



e o O 2T 1 90 0 o 711 § 3 okl Y | 7 T ¢, B N W R | 2 R e
B e A o i S e, 9 e @ 3R forg ®, 79 o A W 1, W e ) AR T
§ 31 forg ¥ el 31 @01 B1g 3 S0 9 A T g S T

Options:

tits
878270219689.

b +to

878270219690.

t—t
878270219691.

b

(5]
878270219692. &

Question Number : 34 Question Id : 87827055911 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body of weight 200 N is suspended from a tree branch through a chain of mass 10 kg. The
branch pulls the chain by a force equal to (if g = 10 m/ 5% :

Options:
878270219693, 200 N

878270219694, LU0 N

878270219695, 00 N



878270219696, 12U N

Question Number : 34 Question Id : 87827055911 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
200 727 ¥ 1 9, T 10 kg F 37 51 T U2 ) TG & T o €1 g 9 I
Wﬁ@ﬁﬁ%:(g:lﬂm/sg):

Options:

878270219693, 200 N

878270219694, LU0 N

878270219695, 00 N

878270219696, 12U N

Question Number : 35 Question Id : 87827055912 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-II :

List-I List-II
Y vs X Shape of Graph
Y
(A) Y = magnetic susceptibility (I)

X = magnelising field

(B) Y=magnetic field (II)

X =distance from centre of a current
carrying wire for x < a
(where a =radius of wire)

(C) Y=magnetic field (I Y

v

X=distance from centre of a current carrying
wire for x > a

(where a = radius of wire)

(D) Y =magnetic field inside solenoid (IV)

X = distance from centre

Choose the correct answer from the options given below :
Options :

A)(1V), (B)~(I), (C)-(ILL), (D)-(II
878270219697. (A)-IV), (B)-(1), (C)-(), (DHI)

878270219698, kAT (Bl (CHIV) (3D



578270219699, P00 (BRI (SRR, (DHIY)

A)- R e . e
878270219700. (AL, (B)-(IV), (C)- (), (D)-1D)

Question Number : 35 Question Id : 87827055912 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T - 11 e g=it - I1 ¥ 1 :
e - 1

Y vs X

(A) Y=g wqi

X = graehryg &

(B) Y == &

K=ﬂﬂa?%lﬁ'ﬁ§ﬁx<a

(C) Y ==h1d &

X = AR % F= A h
(Tela=aX & M E) x>a

(D) Y =9RAfersr % ofey grarhia &

X = %= 4 gl
foret firw ol B A W@ E

Options :

(D

-

¥
(1) \‘

(I Y

Y

(IV)

(A)-(IV), (B)(I), (O)-(I1D), (D)-(ID)

878270219697.

(A)-(), (B)-(1), (C)-(1V), (D)-(1I)

878270219698.



878270219699. (A)-(D), (B)-(ILL), (C)-(1D), (D)-(1V)

878270219700. (A)-(ID), (B)-(IV), (C)- (1), (D)-(1D)

Question Number : 36 Question Id : 87827055913 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

When kinetic energy of a body becomes 36 times of its original value, the percentage increase in the
momentum of the body will be :

Options :

6 %

878270219701.

= ay
878270219702, V0%

o/
878270219703, 20%

oy
878270219704. 600 %

Question Number : 36 Question Id : 87827055913 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Wl T o 1 T el 36 T el W 1 AU g ST 9 o] 71 For fer Wi § e S



Options :

6 %

878270219701.

.
878270219702, 200 %

o/
878270219703, 20%

oy
878270219704. 600 %

Question Number : 37 Question Id : 87827055914 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assuming the earth to be a sphere of uniform mass density, a body weighed 300 N on the surface
of earth, How much it would weigh at R /4 depth under surface of earth ?

Options :
878270219705, /2 N

878270219706, 220 N

878270219707. 300 N

878270219708.



Question Number : 37 Question Id : 87827055914 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T el e T S 6 T €, T 300 N 9 9% % st R/4 e W fe 9 2

Options :

878270219705, /2 N

878270219706, 222 N

878270219707. 300 N

878270219708.

Question Number : 38 Question Id : 87827055915 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pressure inside a soap bubble is greater than the pressure outside by an amount :

(given : R = Radius of bubble, S = Surface tension of bubble)

Options :

878270219709, R

4S
878270219710. R



878270219711. R

4R

878270219712, S

Question Number : 38 Question Id : 87827055915 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T e & Forael o <L 316, 9Ted 2@ hi 79 fefa 31y 2 €

[fezn & R = Staet &1 5, S = 52 M ]

Options :

878270219709. R

878270219710. R

7| W

878270219711.

878270219712, S

Question Number : 39 Question Id : 87827055916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A total of 48 | heat is given to one mole of helium kept ina cylinder. The temperature of helium
increases by 2°C. The work done by the gas is :

Given, R=8.3] K1 mol L,

Options :

249 |
878270219713.

48 ]
878270219714.

72.9 ]
878270219715.

231 ]
878270219716.

Question Number : 39 Question Id : 87827055916 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T SETTER el W Tt Siferm 48 | 3 € S €, ferm T A A 2°C Y g | gm
fepan T 7 % [fe@ ER =83 K~ mol =]

Options :
249 ]
878270219713.

48 ]
878270219714.



72.9 ]
878270219715.

231 ]
878270219716.

Question Number : 40 Question Id : 87827055917 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In a vernier calliper, when both jaws touch each other, zero of the vernier scale shifts towards left
and its 4th division coincides exactly with a certain division on main scale. If 50 vernier scale
divisions equal to 49 main scale divisions and zero error in the instrument is (.04 mm then how
many main scale divisions are there in 1 cm ?

Options :
878270219717, 1V
878270219718, 2V
878270219719, 4V
878270219720, °

Question Number : 40 Question Id : 87827055917 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



oo et 6 S e A B T A o T, A e 9 v, e T R A e
T 7 T O o e o e o g af it <t v v el €1 afe e T % 50 4, e
A o 49 YT o S0 &) 91 Y4 32 0.04 m @ 3 & THM T 1 e H foe o 2 7

Options:

878270219717, 10

878270219718.

878270219719. 40

878270219720.

Question Number : 41 Question Id : 87827055918 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Energy of 10 non rigid diatomic molecules at temperature T is :

Options:

878270219721, -2 RT

70 KT
878270219722.

Z
g5
878270219723.



35 K5T
878270219724.

Question Number : 41 Question Id : 87827055918 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T A9HA T 10 315 fERAmTEtg &7 it 9l ©

Options :
878270219721, 22 RT
70 KgT
878270219722.
i
==

878270219723, 2

35 K5T
878270219724.

Question Number : 42 Question Id : 87827055919 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two identical conducting spheres P and S with charge Q on each, repel each other with a force
16 N. A third identical uncharged conducting sphere R is successively brought in contact with the
two spheres. The new force of repulsion between P and Sis :

Options :



878270219725. 6N

878270219726.

878270219727.

878270219728, 1 NN

Question Number : 42 Question Id : 87827055919 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T e et P AN S, S WA 10 Q R T, T TH-GRL A 16 N 9 § ol 4 ¢ | T
A SR A el SFE-3FeT W H o | T o S €1 37 el P e S W e g

Options :

878270219725.

878270219726.

878270219727. 4N

878270219728, 1 NN

Question Number : 43 Question Id : 87827055920 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of electrons flowing per second in the filament of a 110 W bulb operating at 220 V is :
(Givene = 16x10~1 ()

Options :

e 17
878270219729, 0-25% 10

1 9 19
878270219730, L1-22% 10

a1 95 w 1017
878270219731, J1-29 % 10

o ] 18
878270219732, 0-29% 10

Question Number : 43 Question Id : 87827055920 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 110 912 968 % 1< H 3% R 9 § 220 dee W Falfed TaRA & Ter ¢ :
[ g e=1.6x10"19C]

Options :

6.25 % 1017

878270219729.

1 B 1o 19
878270219730, L1-22% 10

878270219731.



31.25 x 107

o = 18
878270219732, 0-29% 10

Question Number : 44 Question Id : 87827055921 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In a coil, the current changes from -2 A to +2A in (.2 s and induces an emf of 0.1 V. The self
inductance of the coil is :

Options :

878270219733, | M

lj |
878270219734, 22 M

878270219735, 4 mH

878270219736.

Question Number : 44 Question Id : 87827055921 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

T el 4 U0 -2 A ¥ +2A T 02 ke § it & €1 99 0.1 V o ok o 3 2 g
Feel 1 TR ¢ -



Options :

878270219733, 1 M

878270219734, 22 M

878270219735, 4 M

878270219736, 2 M

Question Number : 45 Question Id : 87827055922 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given electromagnetic wave E, = 600 sin (t - kx) Vim ™, intensity of the associated light
beam is (in W/m?: (Given ¢, = 9x 0-12CN ;=3

Options :
2
878270219737. 729

&
878270219738. 972

o]
g
]

878270219739.

878270219740. 486



Question Number : 45 Question Id : 87827055922 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T faR- @ 0 E, = 600 sin (ot - ke V™" ¥ T Tt A dg@ (W/m? #) o
(R e - ¢, = 9x10-2CN-"m-3):

Options :

2
878270219737. 729

g7
878270219738. 72

878270219739.

878270219740, 486

Question Number : 46 Question Id : 87827055923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the thin convex lens, the radii of curvature are at 15 cm and 30 cm respectively. The focal
length the lens is 20 cm. The refractive index of the material is :

Options :

878270219741. 1.4

878270219742, 12



878270219743. L.2

878270219744. L.8

Question Number : 46 Question Id : 87827055923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

mWﬁHﬁWﬁWW 'l5cnlﬁiﬂﬂﬂc111§|ﬁ'ﬂﬁmiﬁ F=20cm €1 T &
WEIEW?SBFH
Options:

878270219741. l.a

878270219742, L2

878270219743.

878270219744. 1.8

Question Number : 47 Question Id : 87827055924 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



When UV light of wavelength 300 nm is incident on the metal surface having work function
213 €V, electron emission takes place. The stopping potential is :

(Given he = 1240 ¢V nm)

Options:

878270219745, +1 V

878270219746, 12 V

878270219747. 2V

878270219748. 4V

Question Number : 47 Question Id : 87827055924 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T YT e, T e 213 eV 8, W 300 nm e 1 T e Sed € | 36 S
T B & [ 3o o el fae@ he = 1240 Vi

Options :

878270219745, +1 V

878270219746, 12 V

878270219747. 2V

878270219748.



4V

Question Number : 48 Question Id : 87827055925 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The longest wavelength associated with Paschen series is : (Given Rj;=1.097 X 10751 unit)

Options :

878270219749, 2273 X 107" m

1y —¢
878270219750, 1-876 107" m

! 1Tn—6
878270219751, 1-094x 107" m

1A ¢ 10 —6
878270219752, --046 X107 " m

Question Number : 48 Question Id : 87827055925 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g AT % e wefe sAfeerdd Teed € [fe § Ry =1.097 x 107 SIHEEF]

Options :

878270219749, 29731077 m

878270219750.



1.876 X 10~ ®m

/ 1Tn—6
878270219751, 1-094x 107" m

AL w10 —E
878270219752, --046x 107" m

Question Number : 49 Question Id : 87827055926 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The acceptor level of a p-type semiconductor is 6 eV. The maximum wavelength of lighl‘ which
can create a hole would be : Given hc=1242 eV nm.

Options:

878270219753, 207 nm

878270219754, 407 nm

878270219755, 414 nm

878270219756, 035 nm

Question Number : 49 Question Id : 87827055926 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T p-FeeaTerh 1 A W6 eV €| foF siferpam T o W & Seufefd et &
(e & he=1242 eVnm)

Options:

878270219753, 207 nm

878270219754, 407 nm

878270219755, 414 nm

878270219756, 035 nm

Question Number : 50 Question Id : 87827055927 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In find_'mg out refractive index of glass slab the fnllawing observations were made through trave]]jng
microscope 50 vernier scale division = 49 MSD; 20 divisions on main scale in each cm

For mark on paper
MSR = 845 cm, VC=26

For mark on paper seen through slab
MSR = 7.12 em, VC=41

For powder particle on the top surface of the glass slab
MSR = 4.05 ¢m, VC=1

(MSR = Main Scale Reading, VC = Vernier Coincidence)

Refractive index of the glass slabis :
Options:

878270219757, 1-24



878270219758, 1-42

878270219759. 1.35

878270219760, 1-22

Question Number : 50 Question Id : 87827055927 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T F9 & AATER [F F G960 0 F § F Jgme il 1) gene % T %
50 ST = 49 &1 TR 3 I A4 T8 T % 1 cm 20 9 81

TS e T T, & TH = 845 cn

SR A1 =26 97T
TS 1 H9 & T H ¥ TG T I
T THI W = 7.12cm
IR YA =4 9T
19 T2 & SR TEE S < |
Lt R T = 405 cm
IR W= 1 9
T 19 T2 3 YA &
Options:
878270219757 1-24
1.42

878270219758.



) |

1.3

878270219759.

59
878270219760, 122

Physics Section B

Section Id : 8782701167
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782702074
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 87827055928 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two open organ pipes of lengths 60 cm and 90 cm resonate at 6 and 5% harmonics respectively.
The difference of frequencies for the given modes is _ Hz.

(Velocity of sound in air=333 m/s)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 51 Question Id : 87827055928 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
& e 9 - el 60 F 77 90 Heh s R L S 70 T e (fem) W B O o €
3 foonall o ol 1 SR [amld =333 W/m] R

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 87827055929 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A capacitor of 10 pF capacitance whose plates are separated by 10 mm through air and each plate
has area 4 cm?is now filled equally with two dielectric media of K; = 2, K,= 3 respectively as

shown in figure. If new force between the plates is § N. The supply voltage is V.
i TN

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 87827055929 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T 10 pF 31 T 31 T 10 mm 31 G0 W E H €, T i # Wew o e 4 (9) 281 G &
T ) W T3-S T K = 2, K= 3 L T ¢ - S e A R g1 sm v &

e T 96 § N & T i arey fa V gl

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 53 Question Id : 87827055930 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given figure an ammeter A consists of a 240 (2 coil connected in parallel to a 10 () shunt. The
teading of the ammeter is “mA.

1404 ()
——AWWWW———

It /A\
UV \

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 87827055930 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fed fot o opieR 1 el 240 30 1 % foreeh o 50 W 10 W A OF W AR AW E | A A
e fiel-urd o A

1404 ()

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 87827055931 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Two coherent monochromatic light beams of intensities [ and 4 I are superimposed. The difference
between maximum and minimum possible intensities in the resulting beam is x [. The value of
s

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 54 Question Id : 87827055931 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
) 7 e T AT foRTOl % Y i 1 3 41, S O I T S | oo e g
# Fouam o Frerem ifen el 1 SRR AR T A

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 87827055932 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In Franck-Hertz experiment, the first dip in the current-voltage graph for hydrogen is observed at
10.2'V. The wavelength of light emitted by hydrogen atom when excited to the first excitation
level is nm. (Given he = 1245 eV nm, e = 16x10~C).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 87827055932 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



T Seh- 22 AT o -l T e tort 14§ erm e g 10,2 V R O 7 | @i e
FIMR AT FARFM @A am gl
[ & - he = 1245 ¢Vnm, e = 16X 10" 9],

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 87827055933 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Three balls of masses 2kg, 4kg and bkg respectively are arranged at centre of the edges of an
equilateral triangle of side 2 m. The moment of intertia of the system about an axis through the
centroid and perpendicular to the plane of triangle, will be kg m?.

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 87827055933 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T TV P99, 9 2 cm, 3 17 TR R 2,4, 6 ke 3 17 T Tt €1 Boget & e 6 v o P
% o § TN o Y % T Fe@ a0 kgmdH R

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 87827055934 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A particle moves in a straight line 5o that its displacement x at any time tis given by x’=1+ {2, is
acceleration at any time tis x ™" wheren=___

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 87827055934 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o 0 e v A fe e € o e ey e =1+ 28 fon 9 2 T
forelt T W 0y E T H AN 1

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 87827055935 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A coil having 100 turns, area of 5 X 10~ Im?, cartying current of 1 mA is placed in uniform magnetic
field of 0.20 T such a way that plane of coil is perpendicular to the magnetic field. The work done
in turning the coil through 90°1s _ pJ.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 87827055935 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
T 100 %0 3 5%10~> m? 85 31 Feett B 1 mA FRI &, & O Ta@i 87 020 T H 38 T @
T & T o T 65 % e Tl ol Fe B R PR AR T @
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 87827055936 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a given series LCR circuit it is found that maximum current is drawn when value of variable
capacilance is 25 nF. If resistance of 200€) and 100 mH inductor 1s boing used in the given cireut,
The frequency of ac source is _ X10” Hz. (given =10)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 87827055936 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T LCR 47 9ftq & siferem forga it S ¢ it fterd1a e 17t 1 7 25 nF §1 3 et
200 S 71 O 100 mH T §1a F1 o oRAem A o x10° Hz B0

(A 72 = 10)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 60 Question Id : 87827055937 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A wire of cross sectional area A, modulus of elasticity 2x 10" Nm =% and length 2 m is stretched
between two vertical rigid supports. When a mass of 2 kg is suspended at the middle it sags lower

from its original position making angle f = m radian on the points of support. The value of A is

X 10~* m? (consider x<<L).

(given: g=10 m/s?)

< 2L

} f

X

.

T,

A,

/% kg

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 87827055937 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T T 4 3¢ Tt forgall % meg wiere e o0 &, Foam g 4Rt A, e i 2 10"
1

Nim =230 TV 2.m & | 4 305 ¥ fog R 2 kg 1 SR 25T A1 & 0 7% U g = - e
1 T ¢ | 9 T TS 4 A X 1074 m? (WM x<<L) 2l (given; g=10 m/s?)

% L }‘-?

RN

%2@

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A
Section Id : 8782701168
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Enable Mark as Answered Mark for Review and

Yes
Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 8782702075
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 61 Question Id : 87827055938 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Molality (m) of 3 M aqueous solution of NaCl is :
(Given : Density of solution=1.25 ¢ mL~ I Molar mass in g mol~!; Na-23, (l-35.5)

Options :

b By
878270219771, 279 m

878270219772.

878270219773, 220 m

878270219774, 1-90 m

Question Number : 61 Question Id : 87827055938 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

NaCl % 3 M el faema 1 dieretd (m) © :
(fean 1 & : foemad 1 ¥@=1.25 gmL. ™! ; g mol =1 § HER E&HM : Na-23, CL-35.5)



Options :

878270219771, 2/9 m

878270219772, --00 M

878270219773, 220 m

878270219774, 1-20 m

Question Number : 62 Question Id : 87827055939 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;
Statement I : [’Fr and BLT both exhibit sp3d hybridisation.
Statement I1; Both SF, and [Co(NH, )6]3+ exhibit sp’d” hybridisation.

[n the light of the above stalements choose the correct answer from the options given below :

Options :

878270219775, Both Statement I and Statement Il are true

878270219776, Both Statement I and Statement Il are false

878270219777. Statement I is true but Statement Il is false

878270219778, Otatement I is false but Statement 1l is true

:Yes



Question Number : 62 Question Id : 87827055939 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
EEECEAERRIDES
®AT1:  PF, Td Brf, 21 € sp’d Yoo Feffd & €
FATI:  SF, T [Co(NH,)|** T & sp>d2 Hertol yefiid =td €|
T F ¥ wend § A fe T et o § watfren e oo 9 -

Options :

- _ |
878270219775. Sl R 1 U e 1 Hel €

, _ ,
878270219776. <l SR I TS SR 11 7Teid €|

878270219777, o1 L TE & I R 11 7T

R 1 7TeTd & I3 |
878270219778. ! ¢ YA 11 T ©

Question Number : 63 Question Id : 87827055940 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. : P "
The ratio —— for the reacton :

1
CO) + 2 Oz = COypy I8

Options :



-
,ﬁ

878270219779.

1/
2
878270219780, K1V

878270219781. RT

878270219782.

Question Number : 63 Question Id : 87827055940 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁm’ﬁﬁaaaﬁqwawfmwmic—?%:

CO(g) + % 0, (g) = CO,(g)

Options :

1
A RT

878270219779.

L/
RT)?2
878270219780. (RTY

878270219781. RT

878270219782.



Question Number : 64 Question Id : 87827055941 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - I1.

List - I List - I

Reaction Type of redox reaction
(A) NZ[g,] +OZ(3) - ZNO(g) (I D‘ecnmposilion
(B) 2Pb(NOy)y - 2PbO g+ 4NO-.{ \+ O-.( (I) Displacement
(C) E\Ta(s} +2H20(I) - EWaOH( aq) sz (IT) Disproportionation

(D) 2NOy +2 OHag) » Ny +NOg) +HyOp (IV) Combination

aq)

Choose the correct answer from the options given below :

Options:

s78270019783. P S ABHADL CHID. (DT

878270219784. (A BIAT, AC)ATV, (BD

878270219785, (A)-(II), (B)~(1D), (C)-(1), (D)-(IV)

avgo70919786. P e (BEIDACHD, (DHIV)

Question Number : 64 Question Id : 87827055941 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

-1 1 et el I
T T
( anfufema ) (fretam afufma 71 yam)
(A) Ny +Oyy = 2NO () oA
(B) 2PH(NOyJy = 2Pb0g +4NOy+ Oy () fowemm
() Nag+2H,0p) - NaOH, +Hygy () ST
(D) 2NOyy +20Hyyq) = NOgg) +NOsq) +HyOpy  (IV) M
1 feit o ferre 9 W SWA H ¢
Options :

878270219783, (A)H1V), (B)-(1), (©)-(1L), (D))

878270219784. (A, (B, (C-IV), (D)D)

s7a270219785, P s ABRID AR (PHIV)

878270219786. (A)-(D), (B)-(I1), (C)-(1LD), (D)-(1V)

Question Number : 65 Question Id : 87827055942 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How can an electrochemical cell be converted into an electrolytic cell ?

Options :

Exchangi_ng the electrodes at anode and cathode.
878270219787.



Reversj_ng the flow of 1ons in salt bridge.
878270219788.

Applying an external opposite potential lower than EY .
878270219789, [T 0 s cell

Applying an external opposite potential greater than EY_ ..
878270219780, T D00 Ll 8 cell

Question Number : 65 Question Id : 87827055942 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ot S Trmafer Ut 1 S ORI STTeet ot H uftafda foEen o gean 7
Options :

'L_: -f @ % f % :_: ': =, 4 H,TI f ﬁ

878270219787

U B H A=A o gelre @l faudia feen o e

878270219788.

EO e | =1 =el fava =1 faudia fevn § &
878270219780.

1(] . ] = .
878270219790, & o1 | ek sl farsre =t fardia feen = <

Question Number : 66 Question Id : 87827055943 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - IL

List - I List - 11
Alkali Metal Emission Wavelength in nm
(A) Li () 589.2
(B) Na () 455.5
(€) Rb () 670.8
(D) Cs (IV) 780.0
Choose the correct answer from the options given below :
Options :
A)-(I), (B)-(IV), (C)-(I1D), (D)-(IL
878270219791. {f ) ( ) { ) ( ) { ) { ) { ) {: )
A)-(1I), (B)-(I), (C)-(IV), (D)-(II
878270219792. {f ) ( ) ( ) { ) { ) ( ) { ) {: )
A)-(LD), (B)-(IV), (C)~(LI), (D)-(I
878270219793. {f )( ) { ) ( "! ( )( ) ( ) {)
A)-(IV), (B)-(ID), (C)-~(I), (D)-(1II
878270219794. {f ) { ) { ) { ) ( ) { ) { ) { )

Question Number : 66 Question Id : 87827055943 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 1 THerm geit-11 9 R
-1 et

( &Y &y ) ( S Tesd nm #)
(A Li ) $89:2
(B) Na (II) 455.5
(C) Rb (III) 670.8
(D) GCs (IV) 780.0
1= e U forskhedi # 9 W& 3 ol A
Options :

878270219791, (A)-(D), (B}-(IV), (C)-(ILD), (D)-(IT)

878270219792, (A, (B)-1), (C)-(1V), D)1

878270219793, (A, (B)-(V, (CHII), (D}-()

878270219794, (A)-(LV), (B)H(LD), (O)~(1), (D)~(I1)

Question Number : 67 Question Id : 87827055944 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of ions from the follnwing that are expected to behave as oxidising agent s :

it Gt PhAT TIEE P I

Options:

878270219795. 3

878270219796.



)

878270219797. 4

878270219798, |

Question Number : 67 Question Id : 87827055944 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frmfefd s 3 § 39 A 5 g S T i ged % w9 w5 W
Sntt Sn2t, Ph2*, T, P4, TI

Options :

878270219795.

-3

878270219796.

878270219797.

878270219798.

Question Number : 68 Question Id : 87827055945 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Evaluate the following statements related to group 14 elements for their correctess,
ovalent radius decreases down the group from C to Pb in a regular manner.
A) Covalent radius d down the group from C to Pt oul
(B) Electronegativity decreases from C to Pb down the group gradually.
aximum covalance of C is 4 whereas other elements can expand their covalance due to
() Maxi lance of C is 4 wl ther element pand tf alance due t
presence of d orbitals.
(D) Heavier elements do not form pm-p bonds.
(E) Carbon can exhibit negative oxidation states.

Choose the correct answer from the options giuen below :

Options:

(A) and (B) Only
878270219799. ?

(C) and (D) Only
878270219800.

A), (B) and (C) Only
878270219801. ( ) ( ) { ) )

C), (D) and (E) Only
878270219802. { ) { ) { ) )

Question Number : 68 Question Id : 87827055945 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y 14 Tl o Sl H fmafeifes 9 %1 9o o e

(A) C¥ P T H e o W wgwarst B foafe o o et 2

(B) C ¥ Pb T T  Ara T T foJd e -+ e |

(C) C ot Ao Feaarowral 4 ¢ Tl 574 T, d-Ferl 1 Sufeerfa o e, o Sewaroeal 1
ferT 0 5 €

(D) T T pr-pr A1 Tl a0 €|

(E) el R S s el o W &

el e T foredl H 4 W IR A A




Options :

_ FA (A) T (B)

878270219799

#mE (O (D)

878270219800

~FAd (4), (B) T (O

878270219801

a4 (C), (D) T (E)

878270219802

Question Number : 69 Question Id : 87827055946 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following elements in the increasing order of number of unpaired electrons in it.
(A) Sc

B) Cr

€ Vv

(D) T

(E) Mn

Choose the correct answer from the options given below :

Options :
878270219803. (B) < (Q) < (D) < (E) < (4)

arao70010804. 1 TG = (B S (E)

878270219805. (8) < (D) < (C} < (E) < (B)



878270219806. (Cr=iE) = (B) =lay= @)

Question Number : 69 Question Id : 87827055946 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foet il ) S T SR SR e e i e
(A) Sc

(B) Cr

© V

(D) Ti

(E) Mn

A fed o fowedi 9 W W R A

Options :

878270219803. (B) < (O) < (D) < (E) < (A)

878270219804 (A) < (D) < () < (B) < (E)

878270219805. (A) < (D) < (Q) < (E) <(B)

878270219806, (L= = (By=iny=)

Question Number : 70 Question Id : 87827055947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The correct IUPAC name of [PtBry(PMey),] is :

Options :

dibromobis(trimethylphosphine)platinum(II)
878270219807. :

bis(trimethylphosphine)dibromoplatinum(1I)
878270219808.

dibromodi(trimethylphosphine)platinum(II
878270219809. ( e (11)

bis[bromo(trimethylphosphine)|platinum(II)
878270219810. .

Question Number : 70 Question Id : 87827055947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[PtBr,(PMe,),| 31 &l [UPAC M ¢ :

Options :
dibromobis(trimethylphosphine)platinum(II)
878270219807. :

bis(trimethylphosphine)dibromoplatinum(II)
878270219808.

dibromodi(trimethylphosphine)platinum(I!
878270219809, ( ylphesphine)p (D)



bis[bromo(trimethylphosphine)]platinum(II)
878270219810. :

Question Number : 71 Question Id : 87827055948 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - II
Tetrahedral Complex Electronic configuration
1 0
(A) TiCl, (D) EE: t
(B) [FeO,J*~ m et
{C] [FE‘CLI] = {H[] Eﬂ, tg
(D) [CoCl ]+~ (IV) o2 l‘%
Choose the correct answer from the options given below :
Options:
A)-(1ID), (B)-(I), (C)-(IV), (D)-(1L
878270219811. { ) ( ) ( ) { { ) ( { z {: )
A)-(1ID), (BY-(IV), (C)-(1I), (D)-(I
878270219812. { ) ( ) ( { ( { ) ( ) {)
A)-(IV), (B)~(II), (C)-(D), (D)-(IL
878270219813. (V). (BT, (CR(1) (DF()
A)-~(D), (B)-(111), (C)-(IV), (D)-(1L
878270219814. (FD: (BRI, (CRRV). QR

Question Number : 71 Question Id : 87827055948 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tii-1 1 e geit-11 9
Heit-1 geit-11
( TTIRTRD THeT ) (Zeraien fa=ama )
(A) TiCl, o et
(B) [FeO " (m e 1
(C) [FeCl]~ (mn €%,
(D) [CoCl,]?~ (IV) et
9 fed o ol o I e S g
Options :

878270219811 (AR, (BHD. (CHIV), (DHID)

878270219812. (UL ARV ACHEL, (Bl

a78270210813. R Y BRI ACKHT. T

878270219814 (AHD), (B)-(II), (C)-(1V), (D)}-(I1)

Question Number : 72 Question Id : 87827055949 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Durjng the detection of acidic radical present in a salt, a student gels a pale yellow precipitate
soluble with difficulty in NH,OH solution when sodium carbonate extract was first acidified with

dil. HNO3 and then AgN03 solution was added. This indicates presence of :
Options:

878270219815, b

878270219816, BT

878270219817.

878270219818.

Question Number : 72 Question Id : 87827055949 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foret el e ety e 1 e o < et fernefl o6 NH,OH fere o gfverer 9 o
foerr W e en e fier 5 o HNO, & WY sl Wfemw watve fede § AgNO, #
freen 71 | 7 e o et 1 ek 0 € -

Options:
878270219815, L

878270219816, B

878270219817, 1



COA
878270219818. 2

Question Number : 73 Question Id : 87827055950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The correct statement among the following, for a “chromatography” purification method is :

Options :

le-pnlar compounds are retained at top and pnlau' cumpnunds come down in column
chmmatngraplw.
878270219819. "

R¢is an integral value.
878270219820.

Organic cumpounds run faster than solvent in the thin laver clumnal'ngraphic plate.
878270219821. !

Rf of a palar cumpuund 1s smaller than that of a 11(}11~pnlal' cnmpnund.
878270219822, -

Question Number : 73 Question Id : 87827055950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e fafe auierad (SRHEER) F O | 98 HeF © ¢

Options :



AYET T e Foferem H SR 1@ W[ € S g A F= o s ¢

878270219819

R, Tk Ui e €

878270219820.

el WA aieiE e | s Her difier foemaes ¥ sifer o fa 9 gor €

878270219821

yefid ARl 1 R A S1egefia ikt | o 2 € |

878270219822.

Question Number : 74 Question Id : 87827055951 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CHj, OCH; CF;

i ) ) m

The correct arrangement for clecreashlg order of Electmpthic substitution for above compounds
5

Options :
L) > (I) > (II) > (IV
878270219823.{ JEl R

878270219824, I = G

IID > (IV) > (ID) > (I
878270219825. ( ) ( ) { ) {)



878270219826. (=) > Jh =g

Question Number : 74 Question Id : 87827055951 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

OCH;,

OO O

(1)
mﬁmﬁﬁmmmmﬂﬁﬁmmqﬁmm%:

Options :

I > (O > (1) > (IV
878270219823.{ i = (ERy)

V) = (1) > (ID > (111
878270219824. { } {] { ] ( )

N = 1V > (1D > (1
878270219825. { ) ( } { ) {)

878270219826. (=) > Jh =g

Question Number : 75 Question Id : 87827055952 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
The incorrect statement regard_ing the geametrical 1somers of 2-butene is :

Options :

878270219827 cis-2-butene and trans-2-butene are stereoisomers.

cis-2-butene and trans-2-butene are not interconvertible at room temperature.
878270219828.

878270219829. trans-2-butene is more stable than cis-2-butene.

cis-2-butene has less d_ipnle moment than trans-2-butene.
878270219830.

Question Number : 75 Question Id : 87827055952 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-FE F TS TAregEl o He H e FuE ¥

Options :

feg-2-5g2 wd 2ie-2-5 8 fafam qwrergs €|

878270219827.

-8 WH 27G-2-o9E R ¥ a9 v F uRee i T

878270219828.

Z9-2-=21H AAfereh T ® fqm-2-=2 9 |

878270219829. ~

878270219830.



fq9-2-5921 =1 fg¥a i, 2iE-2-59219 =l 31987 FH © |

Question Number : 76 Question Id : 87827055953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
L

CHj

H, Major
+ NaOH ——» Product”“A”

Frr =

Consider the above chemical reacbon. Product “A" is :

Options:
OH

CH,
878270219831.

CH;

OH

878270219832.

CH,

OH

878270219833.



CH;

878270219834. OH

Question Number : 76 Question Id : 87827055953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Cl

H>0 :
+ NaOH —— &g 346 “A’

IR TEEE sTfufeEan § 7= 3 A €

Options:
OH
CH,
878270219831.
CH,
OH
878270219832.

878270219833.



CH;

CH,

878270219834. OH

Question Number : 77 Question Id : 87827055954 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
[denlj_[}-' the prnduc[ @ in the [D]lnwhlg reachion.

NH, () NaNO,+HCI

N (11) CleCiE
@)
(iii) NaOH, 623 K, 300 atm
(iv) H+
Options :
Cl
OH
878270219835.

878270219836.



NH,

Cl
OH
878270219837.
NH,
OH
878270219838.

Question Number : 77 Question Id : 87827055954 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et sfrferen & see (A) 1 et

NH, ()NaNO,+HCI
(]_'l) CLIECIZ

>
(iii) NaOH, 623 K, 300 atm @

(iv) H*

Options :

6|

OH
878270219835.

NH»>

Cl
878270219836.

OH
878270219837.

878270219838.



NH,

OH

Question Number : 78 Question Id : 87827055955 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the given reaction, identify the major product P.

(i) LiAlH, (ii)) PCC (iii) HCN/E)HE
(iv) H,O/OH, A .

o P”

CH; — COOH

Options :

(le

CH;—CH - COOH
878270219839. .

O

Il
CHj;—C—CH,CH,
878270219840.

O

Il
CH,—CH,-C—NH,
878270219841.

CH;-CH,-CH, - OH
878270219842. ? =



Question Number : 78 Question Id : 87827055955 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
=1 spfufshan W fo=m od g4 9% 348 ‘P %l Je=HT
(1) LiAlH, (i) PCC (i) HCN,/E}H

CH,; — COOH — > “P”
(iv) H,O/OH, A

Options :

OH

|
CH;—CH - COOH
878270219839. s

O

Il
Cl"]3 e C o Ci‘izC[’[3
878270219840.

O

Il
CI‘I3 i C]"lz R C ) Nl‘iz
878270219841.

CH,-CH,—-CH,—-OH
878270219842. ; -

Question Number : 79 Question Id : 87827055956 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The major products formed :
OCH;

HNOg3, H,SO, S Br; (excess)

*' JB!
Fe
A and B l'ESpECl’iVEl}’ are :
Options :
OCH,4 OCH4
NO, NO,
and
878270219843, Br
OCHj,4 OCH3
Br
and
NO, NO,
878270219844.
OCHj OCH;
NO, Br NO,
and
878270219845, Br

878270219846.



OCHj; OCH;4
Br Br
and
NO, NO,

Question Number : 79 Question Id : 87827055956 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i H=a 31 A T4 B ®, A :
OCH;

(3TTTerE)

HNO3, H2504 BI‘E
}_ J‘A-F FE ’ J‘Bl

Options:

878270219843.

878270219844.



OCHj, OCHj

Br
G|
NO, NO,
OCHj OCH;
NO, Br NO,
w

878270219845. Br

OCHj OCH;

Br Br
w

NO, NO,

878270219846.

Question Number : 80 Question Id : 87827055957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The incorrect statements regarding enzymes are :

(A) Enzymes are biocatalysts.

(B) Enzymes are non-specific and can catalyse different kinds of reactions.
(C) Most Enzymes are globular proteins.

(D) Enzyme - oxidase catalyses the hydrolysis of maltose into glucose.
Choose the correct answer from the option given below :

Options:

B) and (D
878270219847. ®) ©)

B), (C) and (D
878270219848. ®).© ©)

A), (B) and (C
8782702198409. { ) ( ) ( )

(B) and (C)
878270219850.

Question Number : 80 Question Id : 87827055957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wﬁ%ﬁﬁﬁﬁﬂﬁﬁw%:

(A) TIEH 99 3T &

(B) U=rgH fafure 7@l € aen fafym wer ol sifuferanell =i 3aRa & & €|
(C)  3TFereRTeT TR TAeer (TIEid) WM 2 €|

(D) TRH ST, HIeerg & Toh § Wet ST9eRed afd il ¢ |

o fedt o foaredi o @ W s o

Options :

878270219847. (B) &3 (D)



(B), (O) & (D)

878270219848.
878270219849. I JdB S
878270219850. (B} A ({:)
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Question Number : 81 Question Id : 87827055958 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



For hydrogen atom, energy of an electron in first excited state is ~3.4 eV, K.E. of the same electron
of hydrogen atom is x eV. Value of x is x10~! eV. (Nearest integer)

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 81 Question Id : 87827055958 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
RIS I o e, oW Il e  forell gt o Sl -3.4 oV €1 BRI WA & 1
SﬁﬁﬂﬁKE.er%’lxﬂqﬁ%:_ x10~1 eV

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 87827055959 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Total number of species from the following with central atom utilising sp* hybrid orbitals for bonding
e o

NH,, 50,, 5i0,, BeCl,, C,H,, C,H,, BCl,, HCHO, C,H,, BF,, C,H,Cl,

(v

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 87827055959 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
fewafetfeer o 4 3 WIS 261 et S FS o ] S H sp? SeRfa ek %1 S oheel ¢
 p—
NH,, 50,, 5i0,, BeCl,, C,H,, C,H,, BCl,, HCHO, C.H,, BF,, C,H,Cl,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 87827055960 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the reaction at 298 K, 2A+B - C. AH=400 k] mol ™! and 45=0.2 k] mol "1 K™, The
reaction will become spontaneous above K.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 87827055960 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

298 KR &1 afell i 24+8 - C % faw, AH=400 k] mol ™! T AS=0.2 k] mol K",
K& 3w afvfdn wm: & S|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 87827055961 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When ‘v’ x10~% mL methanol (molar mass =32 g; density =0.792 g/cm’) is added to 100 mL
water (density=1 g/cm’), the following diagram is obtained.

g

o)

g $

U &e’

a. Qs‘f’

ol oP

2 [

2 —

>
27065 27315 ’
Temperature/K —>

x=___ (nearest integer).

[Given : Molal freezing point depression constant of water at 273.15 K is 1.86 K kg mol~ I
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 87827055961 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W9 RO (MR §MH=52 g, BA=0.792 g/em’) & ‘¥’ x 1072 mL %1 96 % 100 mL
(=1 g/cm%ﬁﬁﬁwﬁlmaa)lﬁﬁﬁﬂwaﬂ%l

@/%ﬁa«

aﬁ‘@ﬁ W

e

=91 ST

W

27065 27315
M /K —

= (T s W)
(fe 1 %+ 761 1 273.15 K W i 3 feemieh=1.86 K kg mol ~1%)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 87827055962 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the two different first order reactions given below
A+B - C (Reaction 1)
P - Q (Reaction 2)
The ratio of the half life of Reaction 1: Reaction 2is 5: 2. If t, and t, represent the time taken to

d t .
complete %r and % " of Reaction 1 and Reaction 2, respectively, then the value of the ratio

ity ds x 10T (nearest integer).
[Given : log;,(3)=0477 and log;,(5)=0.699]

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 87827055962 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A fou U g o e apife a1 arfufsrane o foram o

A+B - C (a4l 1)

P - Q (sl 2)
Sfor | 1 S ;v 2 3 S A A 5 : 271 A st 1 v sfviE 2 % Fe:
24w 4" A gl R AL G Ry AT x10°!
(Freperm i )

(e 71 % logy,(3)=0.477 T log,q(5)=0.699)

Response Type : Numeric
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Question Number : 86 Question Id : 87827055963 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Among VO'ZI', MnO; and CrzOg-, the spin-only magnetic moment value of the species with least

oxidising ability is BM (Nearest integer).
(Given atomic member V=23, Mn=25, Cr=24)
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Question Number : 86 Question Id : 87827055963 Question Type : SA Calculator : None
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VO;, MnOj T Cr05 ¥ § M AT 4l ot TSt o ‘ol W' S el 1
WA BM (frrem iE H)
(e T & ;I I V =23, Mn=25, Cr=24)
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Consider the follnwmg reactions

NiS + HNO3 +HCl -» A+NO+5+ HEO
A+NH,OH +H;C —(|Z =N-0OH
H;C-C=N-0OH

The number of protons that do not involve in hydrogen bonding in the product B is

— B+NH,(1+H,0
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et arfufsranatl o o i
NiS + HNO; +HCl - A+NO+5+H,0
A+NH4OH+H3C—(?=N—OH
H3C-C=N-OH
TS B H 3 WA 1 G W TRES e § 9 e A /R
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—>B+NH,Cl+H,0
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Question Number : 88 Question Id : 87827055965 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
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Number of catbocations from the following that are not stabilized by hyperconjugation is

)\//\+

(tert-Butyl) (tert-Butyl)’ CHs

4
, CHy-OCH, A\

\

.|..
/N—CH2
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)\//\+

' (tert-Butyl) (tert-Butyl)’ CHs

: A
’ CHZ_OCH3 ] +

\ o+

/N- CH,
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OCyHs

HNOS, HESO4 P ZBTZ. Fe Q
> —_—

r major major
product product

The ratio of number of oxygen atoms to bromine atoms in the product Q is x10~1,
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CyHe

HNOa, H2504 P 2BT2, Fe O_
LG i 1e] 3

35 Q H Sferier WA o HeE U@ S THIE  HeH F S ¢ x1071|
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Question Number : 90 Question Id : 87827055967 Question Type : SA Calculator : None
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An amine (X) is prepared by ammonolysis of benzyl chloride. On adding p-toluenesulphony!
chloride to it the solution remains clear. Molar mass of the amine (X) formed is
g mol~ L

(Given molar mass in gmﬂl'1 C:12,Hy L0 16 N 14
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ﬁﬁiﬂ@ﬂ(X]ﬁWW%:_ gmnl'll
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